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Question 1

a) There are three consumers of a public good. The demands for the consumers are as follows:
Consumer 1: P1=60-Q

Consumer 2: P2 =100-Q

Consumer 3: P3=140-Q

Where Q measures the number of units of the good and P is the price in dollars. The Marginal
Cost of the public good is $180. What is the economically efficient level of production of the

good? Illustrate your answer on a clearly labelled graph (20 Marks)
b) Explain the indicators of resource scarcity (10 Marks)
Question 2
Explain the challenges facing the wildlife sector in Kenya (20 Marks)
Question 3

Write short notes on the following concepts as used in natural resource management

a) Flow resources (4 Marks)
b) Stock resources (4 Marks)
¢) Critical zone renewable (4 Marks)
d) Non-critical zone renewable (4 Marks)
¢) Externalities (4 Marks)
Question 4

Assume that the inverse demand function for fish is P = 10 — 0.2q and the marginal cost of
supplying it is $10.

a) If 45 units are to be allocated between two periods, in a dynamic efficient allocation how
much would be allocated to the first period and how much to the second period when the

interest rate is 0.107 (8 Marks)
b) What would be the efficient price in the two periods? (6 Marks)
¢) What would be the marginal user cost in each period? (6 Marks)
Question 5

Discuss the approaches of natural resource management in your county (20 Marks)



